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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4} that best completes the blank. Then
mark the correct choice on your answer sheet.

1- 1 omitted all the extraneous details while explaining the ---------- of the matter to him.
I) breach 2} distinction 3) qualm 4) gist

2-  While his brother writes in an unclear and clumsy way, Sam himself is known for his
---------- style of writing.
1) lucid 2) verbose 3) dull 4) feasible

3-  Poultry farms place the eggs into incubators to ------—--- the growth of the embryo into
chicken.
1} conguer 2) hasten 3) outline 4) elude

4-  With as many as three witnesses giving evidence against her, the ——-—-—--- of her claim
that she was innocent was in serious doubt,
1) demonstration 2) paradigm 3) veracity 4) empiricism

5-  1Idid not like her way of teaching because her lecture had too many digressions; she kept
on wandering to various subjects, most of them not ---------- to the central idea of her
topic.
1) vulnerable 2) peripheral 3) pertinent 4y loyal

6-  With the advent of electric bulbs and emergency lights, the use of gas lamps became
1) imprecise 2) repetitive 3) idealistic 4) obsolete

7-  The employee did not believe the implausible story that Janet ------—---- to justify her
absence from work.
1) concocted 2) scrutinized 3) manipulated 4y reassured

8-  The doctor has advised him to ------—--- adhere to the prescribed regimen; otherwise,
there is a danger of relapse of the illness.
1) sequentially 2) strictly 3) neptly 4) selectively

9-  The - in her speech can put off almost anyone; she urgently needs to tone down
the harsh words she uses,
1) explicitness 2) cnigma 3) shortsightedness  4) acerbity

13-  He is so wasteful; he has --—-—--—-- all the moncy that he had borrowed from me, and is

now back again asking for more.
1) allocated 2) ncglected 3) depleted 4) accumulated
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the correct choice on your answer sheet.

Good learners work hard. A few things may come casily to lcarners, bul most
knowledge requires clfort (11) -—-—--—-- to put in the time, They talk with others, read
more, study more and carry around when they don't understand, (12) -—--—-—-- about il
belfore they go to sleep, at the gvm, on the bus, Good learners are persistent, When
they fail. they carry on, (13) ---------- that they will figure it out eventually. (14) ------- ;
they learn from their mistakes. Good learners recognize (15) ---------- always fun. But
that does not change how much they love it.

11- 1) which is good learners willing 2) and good learners are willing

3) that good learners willing are 4y willing are good learners
12- 1) thinking 2) to think 3) they think 43 by thinking
13- 1) are confident 2) who are confident 3) thev are confident 4) confident
14- 1) Although 2) In the meantime  3) A casc in point  4) Whereas
15- 1) lcarning not be 2) that lcarning is not

3) to lcarm not to be 4) learning it is not

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

One of the most important tools that a businessman has is the budget. The purpose of
business is to increase profit and minimize costs. A good budget should reflect all
prolits and costs clearly and accurately so that decisions can be made about how (o
increase the profitability of the business. At no point in business is this tcol more
important than in the planning phasc beflore the business has been started. 11 one 1s
building a house, and the foundation is not strong. the house will never stand.
Similarly if the budget is not sound from the beginning the business cannot be fixed
but a strong budget, like a strong foundation will give onc a strong basc o [ix later
problems.

One ol the most important steps in developing a good budget is categorizing one’s
costs. ‘l'here are two major types of costs, capital costs and variable expenses. Capital
costs refer to business expenses that are paid regardless of how much of the product is
produccd. Capilal costs tend (o be purchascs ol ilems a company will own lor a long
time, such as buildings or machines. Variable expenses are costs that change
depending on how much of the produet 1s made. They itend to be items that arc
consumed in the process of production, for example raw materials.

l'or example, imagine that one is starting a bread factory. Capital costs would
include the lactory to make the bread in, the mixer (0 mix the ingredients, and the
oven. They would also include computers to keep track of orders. telephones, and
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other office equipment. Note that capital costs tend to be physical items and that later
you can sell these items.

16- The phrasc “this tool” in paragraph 1 refers to -——--—-—--—-- ;

1) budget 2) business 3) profitability 4) decision-making
17- Which of the following is compared to the budget of a business in paragraph 1?

1) The planning phase 2) The foundation of a house

3) The construction of a building 43y The profitability of a business
18- Tt can be inferred from the passage that the purchase of electronic deviees --—--—--—--—,

1) is an example of capital costs
2) can be considered among variable costs
3} is not required for a bread factory
4) is more important than the purchase of raw materials
19-  Which of the following is NOT mentioned in paragraph 3 as an instance of capital costs
for a bread factory?
1) Tclephones 2) The lactory
3) Mixing machines 4) Bread ingredients
2(- The passage would most likely continue with —-——-—-—-— :
1) a deseription of how bread is produced
2) statistics about the success raics of various busincsscs
3) examples of variable expenses for a bread factory
4) a comparison between the costs of kitchen devices and ofTice equipment

PASSAGE 2:

Peter Drucker was onc of the most important management thinkers ol the past hundred
vears. lle wrote about 440 book and thousands of articles and he never rested in his
mission to persuade the world that management matters. "Management is an organ of
institutions ... the organ that converls & mob into an organization, and human cllorts
into performance.” [Did he succeed? The range of his influence was extraordinary.
Wherever people grapple with tricky management problems, from big organizations to
small oncs, [rom the public scetor to the private, and incrcasingly in the voluntary
scetor, you can find Drucker's fingerprints.

His first two books - The End of Economic Man and The Future of Industrial Man -
had their admirers, including Winston Churchill, but they annoved academic critics by
ranging so widely over so many dillerent subjects, Still, the second ol these books
allracted attention with its passionate insistence that companics had a social dimension
as well as an economic purpose. His third book. The Concept of the Corporation,
became an instant bestseller and has remained in print ever since.

The twoe most interesting arguments in Tie Concept of the Corporation actually had
little to do with the decentralization fad. They were to dominate his work. The first had
to do with "empowering" workers. Drucker believed in treating workers as resources
rather than just as costs. He was a harsh critic ol the assembly-line system ol
production that then dominated the manulaciuring scctor - parily because assembly
lines moved at the speed of the slowest and partly because they failed to engage the
creativity of individual workers. The second argument had to do with the rise of
knowledge workers. Drucker argued that the world is moving rom an "cconomy of
goods" to an economy of "knowledge" - and from a society dominated by an industrial
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21-

22-

23-

24-

proletariat to one dominated by brain workers. lle insisted that this had profound
implications for both managers and politicians. Managers had to stop treating workers
lik¢ cogs in a huge inhuman machine and start ireaiing them as brain workers. In turn.,
politicians had to realise that knowledge, and hence education, was the single most
important resource for any advanced society.

It can be understood from paragraph 1 that Drucker was a ---—---—---—--- "
1) carcer counselor 2) part-timg¢ worker
3) prolific writer 4) corporate manager

According to paragraph 1, people consult Drucker’s works for all of the following
EXCEPT -----------— ;

1) why management is signilicant

2) how to bhe an extraordinary employee

3) ideas about successfully managing the private sector

4) how Lo dcal with management problems in the voluntary scctlor

The social aspect of companics is emphasized in —----ae-aee—- s

1) all Drucker’s works 2) The End of Economic Man
3) The Concepr of the Corporation 4y The Funure of Industrial Man
According to paragraph 3, in Drucker’s time, the manufacturing scctor ——--—-——-——-- .

|) was dominated by assembly lines

2) valued empowerment of workers

3) highlighted guality at the expensc of speed

4) realized that workers should be considered resources
The word “this” in paragraph 3 refers to --—---------

1) an economy of goods 2) engaging worker’s creativity
3) the risc ol knowledge workers 4) insisling on cerlain implications
PASSAGE 3:

The individual elements of a firm's logistics system must be tied together. The firm's
management may have a separale logistics department that is equal 1n status with other
major departments such as finance, production, marketing. and so on. llowever. most
firms are more likely to have these functions spread throughout various departments
looscly coordinated by a logistics stall. (A more traditional [irm had its logistics
activities associated with inbound and interplant movements handled by the production
staff. and these activities grouped were known as "materials management." The
traditional firm's logistics activities involving outbound products leaving the assembly
lin¢ and bound lor customers were handled by the marketing stall, and these aclivitics
grouped were known as "physical distribution management.") l'oday. some firms rely
on "third-party” logistics, wherein they contract with an outside firm to coordinate.
manage, and sometimes perlorm the various [unclions.

The sccond way that logistics activities arc linked is by communications. In recent
vears, improved communications have taken the place of inventory. Some chain stores
have scanners at checkout counters where a customer buys merchandise. These
scanners arc linked dircetly to the chain's home olfice so that it has instantancous
information as to what is being sold. Knowing this, they can restock the store and
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intermediate channels immediately. rather than having a large inventory at that store in
anticipation of what might sell.

Third, control sysicms help link the clements of logistics systems. The reason lor
this is that the goods moving through a sysiem arc valuable and therelore are largels
for pilferage by employees or organized thefts conducted by outsiders. Hence., a
logistics svstem needs a control svstem that tracks the goods as they move from place
o place to ensure that some do not disappear. The system is designed so that when
goods do leave the system. they must be exchanged for proper documentation or
payvment. Computers also help link a firm's logistics activities. As of 1992, more than
1,500 dillerent computer soliware packages were available lor use by logistics
managers.

26- Which of the following would be the best title for the passage?
1) Third-Party Logistics 2) Comumunications in Logistics
3) Traditional T.ogistics Activilics 4) Coordinating and Managing | .ogistics
27-  Which of the following is true of a traditional firm according to paragraph 1?
1) It had no production staff.
2) [t didn’t have a scparate logistics department.
3) [t relied on third-party logistics.
4} [ts inbound and outbound activities were handled by the same group.
28-  According to paragraph 2, in some chain stores, inventory -------———-- .
1) is compiled by customers
2) is updated on a weekly basis
3) plays a crucial role in their logistics system
4) has been replaced by advanced communications

29-  The word “anticipation™ in paragraph 2 is closest in meaning to ——-——-mmmmmm-,
1) prediction 2) position 3) connection 4) cxamination
3{- According to paragraph 3, control systems can help logistics systems to —--—-—-m---,

1) exchange goods salcly

2) make customers leel salc

3) ensure that goads are not stolen

4) choose the required computer software packages
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